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1. fpl asp I @Tet fobedt foig R 39 faig bl pife
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2. U as faig (5, 3) A &Rl & 9T 57 foeadl fig
(2, y) R 3B GleT 3R HIfE BT OFY SHD YT
P TR &1 I BT HIBIUT ST B3|
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3. et 15 faig (1, 0) @ STl g8 3rachel WHERUT
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8. fdg (0, 0) A IERA Il U VH Tch BT HHIDBRUT
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Objective Questions

1. The slope of the tangent to a curve
y = f(x) ast is 2z + 1. If the curve passes
through the point (1,2), then the area of the
region bounded by the curve, the x-axis and

the line is

A.5/6

B.6/5


https://dl.doubtnut.com/l/_6U3k5AeQfcKs
https://dl.doubtnut.com/l/_9Vs8Ulbux2Ez

C.1/6

D. 6

Answer: A
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2.The slope of the tangent at («, y) to a curve

22 & o2
passing through (2,1) is Tyy’ then the

equation of the curve is

A.a:(a:2 + y2) = 10


https://dl.doubtnut.com/l/_9Vs8Ulbux2Ez
https://dl.doubtnut.com/l/_2B6zu9C3oQm1

Answer: D
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